Unit 5: Problem Set 3
1. What is STP?  What volume does one mole of gas occupy at STP?  If the temperature is increased, would this still be true?

2. Three balloons filled with three different gases each have a volume of 22.4 liters at STP.  Do these balloons have the same mass or contain the same number of particles?  Explain.

3. Calculate the volume in liters of 1.20 moles of O2 at STP.

4. How many moles of C2H2 are in a 9.6 L container at STP?

5. Find each of the following quantities:
a. the volume, in liters, of 835 grams of SO3 at STP.

b. the mass, in grams, of 1 molecule of aspirin (C9H8O4).

c. the volume of 3.24 x 1022 molecules of Cl2 at STP.

d. the number of grams in 18.0 liters of CH4 at STP.
